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[Q] A drippy faucet adds one millliter to the volume of water in a tub at precisely one
second intervals. Let f be the function that represents the volume of water in the tub
at time .

(a) f is  continuous function at every time ¢

(b) f is continuous for all ¢ other than the pre
the tub

e instants when the water drips into

(¢) f is not continuous at any time ¢

(d) not enough information to know where f
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[P] A drippy faucet adds one milliliter to the volume of water in a tub at precisely one
second intervals. Let g be the function that represents the volume of water in the tub
as a function of the depth of the water, ., in the tub.

() g is a continuous function at every depth =
(b;
(©

(d) not enough information to know where g is contimuons,

there are some values of z at which g is not continuous

g is not continuous at any depth, =

)
)
)
)
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ippose that during halt-time at a basketball game the
points.

e of the home team
was

True or False: There had to be at least one moment in the first half when the home.
team had exactly 25 points.
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10. [D] True or False. ' — s + 1 has a root in [0,2]
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9. [D] Consider the function

¥  is rational, = # 0
-2  is irrational
undefined

Then
(a) there is no a for which lim f(z) exists

(b) there may be some a for which lim f(x) exists, but it is impossible to say without

more information

(¢) lim f(x) exists only when a = 0

(d) lim f(x) exists for infinitely many o
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[Q] If a function f is not defined at = = a,
() lim f(x) cannot exist

(b) lim f(2) could be 0

(¢) lim f(x) must approach 0o

(d) none of the above.
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12 [Q) If lim f(x) = 0 and lim g(x) = 0, then lim =5

9w

(a) does not e

(b) must exi

(¢) not enough information
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19. [Q] What is the maximum mumber of horizontal asymptotes that a function can have?

(@) one
(b}
G

[C)

wo

three

as many as we want
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15. [D] Suppose you have two linear functions f and g shown below.

f@)

Then lim =~
a g(a
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)

(b) does not exist
) not enough information
)
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